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1. If	 principal	 is	 ₹5000.00,	 ROI	 is	 9.00%	 p.a.,	 no	 of	 year(s)	 is	 3	 and	 interest	 type	 is	 simple	 interest	 computed
annually,	then	interest	is
(i) ₹1351.00 (ii) ₹1348.00 (iii) ₹1350.00 (iv) ₹1349.00 (v) ₹1352.00

2. If	principal	is	₹13000.00,	ROI	is	10.00%	p.a.,	no	of	year(s)	is	5	and	interest	type	is	compound	interest	computed
annually,	then	interest	is
(i) ₹7934.63 (ii) ₹7937.63 (iii) ₹7935.63 (iv) ₹7936.63 (v) ₹7938.63

3. If	 principal	 is	 ₹7000.00,	ROI	 is	 2.00%	p.a.,	 no	of	 year(s)	 is	 2	and	 interest	 type	 is	 compound	 interest	 computed
annually,	then	amount	is
(i) ₹7281.80 (ii) ₹7280.80 (iii) ₹7283.80 (iv) ₹7284.80 (v) ₹7282.80

4. If	ROI	is	6.00%	p.a.,	no	of	year(s)	is	4	and	accumulated	compound	interest	is	₹5249.54	computed	annually,	then
principal	is
(i) ₹19999.00 (ii) ₹20002.00 (iii) ₹20001.00 (iv) ₹19998.00 (v) ₹20000.00

5. If	ROI	is	4.00%	p.a.,	no	of	year(s)	is	4	and	accumulated	compound	interest	is	₹1868.44	computed	annually,	then
amount	is
(i) ₹12869.44 (ii) ₹12866.44 (iii) ₹12870.44 (iv) ₹12867.44 (v) ₹12868.44

6. If	principal	 is	₹8000.00,	no	of	year(s)	 is	3	and	accumulated	compound	 interest	computed	annually	 is	₹2077.70,
then	ROI	per	annum	is
(i) 9.00% (ii) 6.00% (iii) 8.00% (iv) 7.00% (v) 10.00%

7. If	principal	 is	₹6000.00,	no	of	year(s)	 is	4	and	accumulated	compound	 interest	computed	annually	 is	₹1293.04,
then	amount	is
(i) ₹7291.04 (ii) ₹7292.04 (iii) ₹7295.04 (iv) ₹7293.04 (v) ₹7294.04

8. If	principal	is	₹18000.00,	ROI	is	4.00%	p.a.	and	accumulated	compound	interest	computed	annually	is	₹2247.55,
then	no	of	years	is
(i) 3 (ii) 4 (iii) 2 (iv) 5 (v) 1

9. If	 principal	 is	 ₹5000.00,	 ROI	 is	 4.00%	p.a.	 and	 accumulated	 compound	 interest	 computed	 annually	 is	 ₹408.00,
then	amount	is
(i) ₹5406.00 (ii) ₹5407.00 (iii) ₹5409.00 (iv) ₹5410.00 (v) ₹5408.00

10. If	principal	is	₹14000.00	and	compound	interest	amount	is	₹16940.00	for	2	year(s)	computed	annually,	then	ROI
per	annum	is
(i) 11.00% (ii) 8.00% (iii) 12.00% (iv) 9.00% (v) 10.00%

11. If	 the	 compound	 interest	 amount	 for	 a	 certain	 principal	 is	 ₹21648.64	 for	 4	 year(s)	 at	 an	 ROI	 of	 2.00%	 p.a.
computed	annually,	then	principal	is
(i) ₹20001.00 (ii) ₹19998.00 (iii) ₹20002.00 (iv) ₹19999.00 (v) ₹20000.00



12. If	 the	 compound	 interest	 amount	 for	 a	 certain	 principal	 is	 ₹22283.53	 for	 4	 year(s)	 at	 an	 ROI	 of	 7.00%	 p.a.
computed	annually,	then	interest	is
(i) ₹5282.53 (ii) ₹5285.53 (iii) ₹5281.53 (iv) ₹5284.53 (v) ₹5283.53

13. If	the	simple	interest	on	a	certain	principal	is	₹5760.00	for	4	year(s)	at	ROI	9.00%	p.a.	computed	annually,	then
the	compound	interest	for	the	same	principal,	terms	and	ROI	=
(i) ₹6587.31 (ii) ₹6584.31 (iii) ₹6586.31 (iv) ₹6585.31 (v) ₹6583.31

14. If	the	compound	interest	on	a	certain	principal	is	₹1475.15	for	3	year(s)	at	ROI	9.00%	p.a.	computed	annually,
then	the	simple	interest	for	the	same	principal,	terms	and	ROI	=
(i) ₹1352.00 (ii) ₹1348.00 (iii) ₹1350.00 (iv) ₹1349.00 (v) ₹1351.00

15. Calculate	the	amount	on₹18000.00for5years5months
at5.00%	p.a.compoundedannually
(i) ₹23451.67 (ii) ₹23450.67 (iii) ₹23452.67 (iv) ₹23449.67 (v) ₹23453.67

16. Calculate	the	amount	on₹17000.00for years

at8.00%	p.a.compoundedannually
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(i) ₹20225.38 (ii) ₹20226.38 (iii) ₹20224.38 (iv) ₹20223.38 (v) ₹20227.38

17. A	man	borrows	a	₹11000.00	at	2.00%	p.a.	compounded	annually.	 If	he	repays	₹5610.00	at	the	end	of	year	1	,
₹1430.55	at	the	end	of	year	2	,	how	much	loan	is	outstanding	against	him	at	the	beginning	of	the	year	3.
(i) ₹4292.65 (ii) ₹4293.65 (iii) ₹4290.65 (iv) ₹4289.65 (v) ₹4291.65

18. Find	simple	interest,	if	P	=	principal,	T	=	time,	R	=	rate	percent	per	annum

(i)
P	+	T	+	R
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(ii)
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PTR

(iii)
PTR
100

(iv)
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100	+	R

19. Given	SI	=	simple	interest,	P	=	principal,	T	=	time,	R	=	rate	percent	per	annum,	find	simple	interest

(i)
100	x	SI
P	x	R

(ii)
PTR
100

(iii)
100	x	SI
P	x	T

(iv)
100	x	SI
R	x	T

20. If	P	=	Principal,	n	=	no	of	terms,	R	=	rate	of	interest,	formula	for	amount	at	compound	interest	is
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